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Sosls dcgamma yiST 0S50 1y Sleoj (5w slodls sl PaNdas ;leolaiwl o)l ,o (soudS 4SS sz anls 9,0 sy
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(Date Time index) ;,l; 5 o ,b sl
(Time resampling) sl saze (5,05 paiges @
(Time shifts) Sb; obul> e

(Rolling and expanding)eaus o, g oaisS &8 ,> Sloslxs @

(Date Time Index)yloy g &9 4U o>l
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from datetime import datetime
az el e jo wlo b oS ol pols &Ll sLsl L timestamps) b e yle; b oo o bo a1, Sl !

my_year = 2021
my_month =5
my_day=1
(oS oolaul o SYNtax ;1 ol o datetime Usls &b 5l eolaiul sl

my_date = datetime()
oS )l ) L‘”QL‘;JT el omle S o b jo 1) by g 59, wolo ¢ Jlo @b cpl (et o0 45 jsb Lo



my_date = datetime(my_year, my_month, my_day)
ol datetime = o ol 4 2K ool

[4] my date = datetime(my year, my month, my day)

[5] my date

datetime.datetime(2021, 5, 1, 0, 0)

oS oo ot Larls Ky a1, datetime s b g Jols Con g G Lrsl o

my_list = [datetime(2021, 1, 1), datetime(2021, 1, 2)]
oS oS pasls SG 4y pj jetws jlesliinl L) cased L NUMPY w11 S ol o

dt_idx = pd.Datetimelndex(my_list)
my_ list = [datetime(2021,1,1), datetime(2021,1,2)]

dt_idx = pd.DatetimeIndex(my_list)

dt_idx

DatetimeIndex(['2021-01-01"', '2021-01-02'], dtype='datetimeé6d[ns]', freg=None)

o 3420 5,19 146300
(o0 5 4833 wieels (39,) FSzsS ulie y3 lajgu i Lasla b olaosls Ygame ¢ Jlo (sloosls acgazme b IS plSin
5 anbea ilale) cols slauils 3 bl o 1) Laools a5 ol 55 oyl il o Lo 6l el b oS oo 3l 40
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import numpy as np
import pandas as pd
import matplotlib.pyplot as plt

%matplotlib inline
:Google Colab ,s osls o4b]

from google.colab import files



uploaded = files.upload()
:Lmob @)X CSV JJ[S UJJ‘P

df = pd.read_csv('TSLA.csV')
~72,b axls apd.to_datetime() ;leslannl L1, o7 ol plo o a3 5 ka5 o asls olsie 4 b Date g

S oo s e

df['Date'] = pd.to_datetime(df['Date’])
ol datetime o G 9581 giw opl &S pein o0 Odfiinfo Slgs1,5 L

[9] df.infoy()

<class 'pandas.core.frame.DataFrame'>
RangeIndex: 252 entries, 0 to 251

Data columns (total 7 columns):

Date 252 non-null datetimefd[ns]
Open 252 non-null floaté64

High 252 non-null floaté64

Low 252 non-null float64

Close 252 non-null floaté64

2adj Close 252 non-null floaté64

Volume 252 non-null int64

dtypes: datetime64[ns] (1), float64(5), int64(1)
memory usage: 13.9 EB

S o0 e 2 ls g & 1) Date g >
df.set_index('Date’, inplace=True)
parse_dates=True yindex_col='Date’ slaas ;5 ;I bl julss pllin quinsles co IS ol 0,5 Foole &y

p....S R df.|ndeX )G l) ‘) ua}Lw p..."})kso B e .r‘,....S oolaiul
[16] df = pd.read csv('TS index col='Date', parse dates=

[17] df.index

DatetimeIndex(['2020-05-01"', '2020-05-04', '2020-05-05', '2020-05-06",
'2020-05-07', '2020-05-08', '2020-05-11', '2020-05-12",
'2020-05-13', '2020-05-14",

'2021-04-19', '2021-04-20', '2021-04-21', '2021-04-22",
'2021-04-23', '2021-04-26', '2021-04-27', '2021-04-28",
'2021-04-29', '2021-04-30'],

dtype='datetimef4[ns]', name='Date', length=252, freg=None)

o oa2,lo 5L datetime Lasls G« lawl ¢ (time resampling) Sle; saze (5,10 paiges g45 0 plosl sl
rule b gl . oS asein (rule) ol G g oS 5,08 paiges | lesls df.resample() s ;1 eolarl b puslss oo



(time series offset) by olbxl> g4 0 Glp 05 (6,10, Gged Lools 5 qublys o g 45 &S o ascie
aiile (g8 (ol cadly 50 oS anlllas abogs yo Sl Ho 1) o] jidon Gl aslg o 45 318 3939 cold (oS SlalS

w00 ‘5’>|).'a LS’LA) S LSLQO\)‘.) LS‘)" uol.’> )5L> L aS ol GFOUpBy u*‘ﬁ) &S.a

Sazme (5,10 paiged bl ol (eSiles 5 Conl €l DLl Gl Gline 4 &S i LA (056 51 Jlie G vl
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# o Gl o suzme )0 patigad oloo] o (oSilice dnlns
df.resample(rule="A').mean()

(18]
df.resample(rule="A").mean( )

Open High Close Adj Close

Date
2020-12-31 368.541566 378.454683 358.214741 369.831953 369.831953 6.259896e+07

2021-12-31 743.344025 759.444267 723.270975 742.028291 742.028291 3.475055e+07

oSl e el 0355 S TASNY L s Yo VASYYYY 51 L3 slaools ans (ly OPEN (ygis e eSilos ¢ Lo oyl 4o
3505 51 00l L slsi oo o - ool 035 ;Y YAVFE L 1y Yo 1AV Y2FY B Y VAS YY) (s slosls (sl e

Tonys] Caws 4 ddledus O jg0 4y 005me (6,10 pdigas 3l Ly |y polie ke Q

# aslodw vuzo (5,0 ptigas
df.resample(rule='Q').mean()

[19]
df.resample(rule="0Q").mean()
Open High hAdj Close
Date
2020-06-30 176.483143 180.446523 172.655477 177.078286 177.078286 6.291385e+07
2020-09-30 352.8975532 365.226126 340.174626 354.207405 354.207405 8.104423e+07
2020-12-31 510.145940 521.626095 498.028124 511.951094 511.951094 4.394705e+07

2021-03-31 755.070000 771.730656 732.933279 753.185899 753.185899 3.559025e+07

2021-06-30 709.282860 723.755232 695.204285 709.618094 709.618094 3.231141e+07




(Time Shifts) Sl y lwl>
AlolS oS buls aseiie (lojlal 4y i b slo oy |, Laosls a5 3,1 5L5 leg 6locs pms (oimssis slo oo il
ol M CSV L6 & 0,90 9090 ol Linled 5l oS oo pduylSalshift() e b Solw a1, ,I5 sIPandas
225 05w 5l eulel oo oS bul> gl 4 ‘alf G ojlasl as 1y Sloj 0,99 pudlyzn Sosyls alyg,y sleesls as oS oo
oS ool

df.shift(periods=1).head()

[25]

df.shift({periods=1).head()

open High

Date
2020-05-01 NaN NaN NaN NaN NaN E
2020-05-04 151.000000 154.554001 136.608002 140.264008 140.264008 162659000.0
2020-05-05 140.199997 152.399994 139.600008 152.238007 152.238007 96185500.0
2020-05-06 157.857993 159.783997 152.436005 153.641998 153.641998 84958500.0

2020-05-07 155.300003 157.860007 152.222000 156.516006 156.516006 55616000.0

6‘,»‘1 )L.\M )| oalazwl la M‘ys‘o u.....‘?Lo.b .p.»)Lb 6‘00‘0 LSDLO) 0,92 U’“JB‘ 6‘14 )in) as p.A.S‘SA ounlive )lS U”‘ )| o=
oS ol cdie 4 1) Slej o,90 periods lesS T

PANDAS 4 (Rolling & Expanding) ods vwi y g & yx0 ©lwloxo
» (rolling mean) & e xSilee pudlyse 85 s @S oslinul pandas ,srolling Jsbs aie 5l pusles oo Lo
6l s g3l Sllugs shls aljs, sbrosls il Il sbvosls L S 0. @S sbm] aseie Sloj 03k o bl
LK U 0S oolizl 54 o0 axa5 5.5 Moving Average 1 4 a5 S ete (xKke 51 pulgs o0 3090 ol b ablie

S oy 25 g b1y 093 ailjg, slesls anlo. gl Caws 4 laools IS aig, 0 b y0

df['Open'].plot(figsize=(16,6))



df[ ].plot(figsize={16,6))

<matplotlib.axes. subplots.AxesSubplot at 0x7fcf948ccll0>

Jo U5 ) b ol sm b G5t o 5 1) S e 523l ol g0 — oS dmslona |y (i (5 S0le wle >
DataFrame Js 5, b «ols 7 b 05t S 53,15 S o 5ol ol on oS amlone | (S (52 3ke

&b s 9 0 o0 3,5 (WINAOW) 0 xis ylgie a0 1,V sae IS ol sl oo y9] s anrolling() oo 51 oslazal b

df.rolling(7).mean().head(14)

[27] df.rolling(7).mean().head(14)

Date

2020-05-01

2020-05-04

2020-05-05

2020-05-06

2020-05-07

2020-05-08

2020-05-11

2020-05-12

2020-05-13

2020-05-14

2020-05-15

2020-05-18

2020-05-19

2020-05-20

Open

NaN
NaN
NaN
NaN
NaN
153.822285
155.879427
158.303142
158.023429

159.419144

160.864001

161.475429

162.332286

High

NaN
NaN
NaN
NaN
NaN
NaN
159.082572
161.097430
162.926002
163.052859
163.488571
164.583429
164.528285

164.585427

NaN

NaN

NaN

NaN

NaN

NaN

149.962572

153.532859

155.398573

155.450572

156.177429

157.078286

157.623145

158.388859

MNaN
NaN
NaN
NaN
NaN
NaN
154.972859
158.061144
158.911715
159.915144
160.389143
161.348857
161.022858

161.144858

Adj Close

NaN
NaN
NaN
NaN
NaN
NaN
154.972859
158.061144
158.911715
159.915144
160.389143
161.348857

161.022858

161.144858

oS oo Lol I mean() ez

NaN
NaN
NaN
NaN
NaN
NaN
8.858400e+07
7.670907e+07
7.658650e+07
7.422257e+07
7.379057e+07
7.388921e+07
6.928207e+07

6.270329e+07
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df{'Open'].plot()
df.rolling(7).mean()['Close’].plot(figsize=(16,6))

[28] df['Open'].plot()
df.rolling(7).mean()[ 'Close'].plot(figsize=(16,6))

<matplotlib.axes. subplots.AxesSubplot at 0x7fcf9aa49b90>

Ceagd 0jg; V S e (:S0ls (26,6 s 5 (OPEN) (o 5 cad osimo )i ] a3 oS oo ol g (ol 4y (5B
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alaai b Jloj (g sloml 5l Loosls dad oy 1S Jlai 1o 1y 059, ¥ (glo,miy Jadd aSyl sl 4y o Jlo (sl S plol 0L

feeS oo oolazwlexpanding() w51, ol gl eusS Lld 1) b

df{'Close'].expanding().mean().plot(figsize=(16,6))

se’ ] .expanding().mean().plot(figsize=(16,6))

<matplotlib.axes. subplots.AxesSubplot at 0x7fcf94912£10>




OSles <Y jgome (59, oad 03l uled lade ¢ X e (59, (Sloj B 2 0 Tamsse (LS ] ez 4z Hloged (nl (s
cloasl 1 51 S a8 Cowl (g polie den

Bollinger Bands b y&id 93 (slawal
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rolling() we b bad yo Slegoge 51 (SO Lol elo p oulys (5 s JSSS Judow g ol coloo a aslsl 10,05,

S (oo et Gyt GERLT L alial b as el lre Slial bl sl l lugs 8555 e )18 S e (520l
gl oo Bl il wuly oo J2elS lugs (S8 5wl ge (B eS Laail il oo (2l L Lo 8
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# G s S 0jg, o S pmio 1 Sileo
df{'Close: 20 Day Mean'] = df{'Close'].rolling(20).mean()

#ojg) Ie jlo Szl ol Vit 0jg, Vo Symio 5 Sloo = Yl Ll
df['Upper'] = df['Close: 20 Day Mean'] + 2*(df['Close'].rolling(20).std())

#ojgy e jlro Sl plp ¥ =0y, Vo Symio 5 Tlo = ol L



df{'Lower'] = df['Close: 20 Day Mean'] - 2*(df['Close'].rolling(20).std())

# Koty slodil g s iy S )15 o
df{['Close’,'Close: 20 Day Mean','Upper’,'Lower’]].plot(figsize=(16,6))

df|[ Mean 'C ].rolling(20).mean(})
df[ 'Upper'] = df['Close: 20 Day an'] + 2*(df[ 'Close'].rolling(20).std())
df[ 'Lower'] = df['Close: 20 Day an'] - 2*(df[ 'Close'].rolling(20).std())

df[['C se: 20 D ean', 'Upper’', 'Lower']].plot(figsize=(16,6))

» <matplotlib.axes. subplots.AxesSubplot at O0x7fcf93££93d0>
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Statsmodels 4wl (b y20

icl Statsmodels wlulis  Slej (5 soodls b S sl el AlbuliS o Sogame

ol 4185 sl R (g Lol s giaali o oyl 51 oo 4y AlBuliS” cpl s o 1,1 (g Lol (slmosls yoglS

el 1y slel slagyge;l g oS 5551 1) (g el (sla Jow S (oglS 1) lassls aas o Sl oyl 18" a.Statsmodels
SS v § oS 50 lg 5 Dyge | aAbuliS ol Lo slais 2Ktsa Sley sla sy Judow Joile 4 asl Lo
TS o0 1A ,L 1) el ST L ol jes aST 00ls dcgeaze

# dio b loools 40,5 5, load_pandas 54 5.data

df = sm.datasets.macrodata.load_pandas().data
df.head()

[6] # import dataset with load pandas method and .data attribute

df = sm.data; s.macrodata.load pandas().data
df.head()

year gquarter realgdp realcons realinv realgovt realdpi i ml tbilrate unemp pop infl realint
1959.0 1.0 2710.349 1707.4  286.898 470.045 1886.9 139.7 2.82 58 177.146 0.00 0.00
1959.0 2.0 2778.801 1733.7 310.859 481.301 1919.7 141.7 3.08 51 177.830 2.34 0.74
1959.0 3.0 2775.488 1751.8  289.226 491.260 1916.4 140.5 3.82 5.3 178.657
1959.0 4.0 2785.204 1753.7 299.356 484.052 1931.3 140.0 4.33 5.6 179.386

1960.0 1.0 2847.699 17705 331.722 462,199 1955.5 X 139.6 3.50 5.2 180.007

SleMbl 45 bogs o Wosls (! a5l Cows 4 00ls dcgame slgizs o)l 0 SMLLNOTE S5 5l oolaw b ouslys o
oS oo odis Loy 5w a3l olsie @ 1) Jlo Gy Jl> L aitas sasie SV sl
index = pd.Index(sm.tsa.datetools.dates_from_range('1959Q1','2009Q3'))

df.index = index
?:"‘S(_s"“?"'”‘)“)realgdp O c@»\bﬁﬁhﬁ@h‘)g‘yumuu\}mmd\.mﬁsyb

df['realgdp’].plot()
AL OIS R RCT I S ESH R 'M)?T Cawd 4 1y Wools &g, b quns ploil o Statsmodels 5l solicwl b ol
! oS o0 oolizwl(Hodrick-Prescott)

sm.tsa.filters.hpfilter(df['realgdp'])
(BB 50,550 5l oolaiwl b s c 510 )5 s0 |y ooty ez Kig,y 9 ooy  cwedu a5 > Jolis (z95) LU SO &b ()
TS o8 ey loged (535 9 09,5 gl Al 1y W)

# o sy 5 dig) 5385 Sl Ll 50,550
gdp_cycle, gdp_trend = sm.tsa.filters.hpfilter(df['realgdp'])



# loools 4 Wy, Geiw 0,5 48ls/
df{'trend'] = gdp_trend

# jlosai ooy GDP ] g, 5 o235
df[['realgdp’,'trend']].plot()

[13] # let's use tuple unpacking to get this trend and plot it on top of this
gdp_cycle, gdp trend = sm.tsa.filters.hpfilter(df['realgdp'])

# add in a column for the trend
df[ 'trend'] = gdp_trend

# plot the real gdp & the trend
df[[ 'realgdp', 'trend']].plot()

<matplotlib.axes._subplots.AxesSubplot at 0x7fc95fc26160>

StatsModels 3! o8l L ETS sld Jowo

ETS slix! & a5 aplo .cwl (Seasonality) ;o4 Las 5 (Trend) ws, « (Error)las aalge aw caase ETS Jow
Slaal 6l 1y (g had iy, dlaz) badlse cnl 51 Sy 50 ETS (sl Jow jlase (Sloj 6 m 00ls asgazme S 50
Jelse ol ol 51 208 B Jao 311, il Sl (S b oy o |y il Sl S 5 05 oo 55 8 (550 fsmn
loadlge ol 51 o 5o 4]y (Sloj 60 SO ali o0 455 oS Sl laslmosls (23 (sl (Je oilys oo sl
09755 Lol o oadlie (4 Gloj 5 S S sl el (39, ETS Sl ool b (Gloj (5 41525 GpoS o

sl 00 03,51 TSLA &y bgs o CSV Ll (51,5 ETS a5 alovl

from statsmodels.tsa.seasonal import seasonal_decompose
result = seasonal_decompose(df['Adj Close'], model="additive’, freq=12)

gy Jbe 6l (oS o 1) e (slil osled oo s

result.trend.plot()
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EWMA sl Jowe

33 .ol (Exponentially Weighted Moving Average) ls s S e (Sl & le caise EWMA
@l Joe ol 08 diogs 1) Sloj 6w o K, 45 o3l Slosle Jow ouilys opd.rolling() ;l eolacul b a8 aus
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# ootw jlaolo ) ools S mie 5 Sleo ol /Ad) Close
df['30 Day SMA'] = df['Adj Close'].rolling(window=30).mean()

# 5405 o, SMIA 4 Adj Close
df[['Adj Close’, '30 Day SMA']].plot(figsize=(10,8))

df[[ 'Adj Cleose', '30 Day SMA']].plot(figsize=(10,8))

[+ <matplotlib.axes. subplots.AxesSubplot at 0x7fcf69cffd10>
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# olw | EWMA
df['EWMA-30'] = df['Adj Close'].ewm(span=30).mean()

# o0 s, EWMA
df{['Adj Close', 'EWMA-30']].plot(figsize=(10,8))
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df[['Adj Close', 'EWME-30"']].plot(figsize=(10,8))

<matplotlib.axes. subplots.AxesSubplot at 0x7fcf7281e850>
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